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Note: 1> All Questions are compulsory & ca
2> Use of simple calculator is allowed

3>Figures to nght indicate full marks (o corresponding sub-question,

ITy equal marks.

Q.1 > Attempt any two of the followine
B

o ffos fhe demand.funCIion D =70+ 9p —p3 , Find the demand, when price is 2.
Also find the price when demand is 70. o
o35 Diﬂ‘?ren[iﬂte the following w.rt. X

) (4x2-7x+5)
(l) “i = (3x+1)

" = 1
()y=Xx 4+E+6x+logx (6)
¢>IfY=15+12x — 3x? | Find th€ valtie of x for which y is Maximum, (6)

Q.2 >Attempt any two of the following

a > Find the amount & the compound interest on Rs 1{500 for 4 years at 12%
Calculated on yearly basis. (6)

b >Find the amont of an annuity of Rs 6,000, payable at the.end of cach quarter
for 2 years, the interest raye being 8%, compounded quarterly. (6)

¢ >For the ordinary annuity of Rs 3,000 per month for 1 year at 12%40 be
calculated monthly, find its present value. (6)

Q.3 >Attempt any two of the following

a > Calculate the correlation coefficient between the price & supply from

the following data & comment. (6)
Price [5 |4 3 J6 2 10 "
Supply | 8 6 4 9 3 10

b > Find the rank Correlation coefficient for the data given below. (6)

Marks1 |30 40 50 10 40 70
Marks2 | 75 32 45 15 20 45
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¢ >Far (hc.gl“'” & (i) The f-"-!'l when y=1

cind (i) Byxbo »5 &N

Fin J d \’ “-hcﬂ X = ...-.-/ ) .\' \r /

(iii) fin

[ f%j e -| 29
Mean _ —— [ '
Variance =

COV( xq)") = 'l ‘
f the followmg |

dJata & fn'lltf vislues

| (f)

Q.4 >Attempt any tW0 0
,Jf,l)l‘ |

|-,t;[! | It ' 1t |

i) 5 10/ Y/ } v, |
.

ol

az Obtained the tre values Al ph WINg .nrcri\b";’ — 0Ot
sam h. Using four yearly OV 2=0am171005 | 1H20

on the e graph. ]I i 44

32.8

o -

+« & Fisher's IndeX nulllbcr‘liu' (he data given below ()
b > Find the Laspeyre’s, Paasche sk s “TCurrent yenr
/ﬁmmodiry ' e Quunlll}'
0 | 10
[ A | 25
B 9
< | 30
[ ] 3

¢ > Find the missing price, if Laspeyre’s index number.is equal to Paasche’s price
index number for the given data. (6)

[ Commodity | Base Year [
| Price | Quantity ’[ P
I

Current Yéxi:r‘_t_ »
rice | Quantity
4 s

[ A | 215

B 1 3 1 : 4 7
Q.5 >Attempt any two of the following
F T .
a > For a binomial distribution , Mean is § & standard deviation is 2. Find n & p
b>Fora poissondistribution , If P | ?
; 3) =
: e e~4-0.018) (3) = P(4), FindA and hence find P(5)
¢ > The quartile Deviation of 3
armal distrip :
Find the mean, Stan : ution is 10. It's Firgy )
dard deviatiop & N——— quartile js 70
(6)
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